THE GUAHATI HIGH COURT AT GUWAHATI
(THE HIGH COURT OF ASSAM, NAGALAND, MIZORAM AND ARUNACHAL PRADESH)

Main written examination for direct recruitment to Grade-III of Nagaland Judicial Service, 2018

" Date: 18-01-2019 (Saturday) Time: 1.00 pm to 4.00 pm
Totat marks: 100

Duration: 3 (Three) hours
PAPER- I1

GENERAL KNOWLEDGE- [Group-A]

1. Mention the places where the following International Organizations are
head quartered :- 5x1=5

() International Court of Justice (ICJ) —
(i) International Labour Organization (ILO) -

(iii)  United Nations (UN) -
(iv) World Bank -
(v) UNESCO -

2. Name the authors of the following books:- Bxi=5

€) Neither Rose nor Thorns ...
(i) The Argumentative Indian ...
(iiy My Experiment with Truth

(iv) TheGoldenGate ...
(v} One Day Wonders ...

3. Mention the sporting activity with which the following sports persons are
associated :- 5x1 =5

0 Hima Das
(i) Shiva Thapa ...
(i) PVSndhe L
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(iv) MithaiRey .
(v) Gagan Narang

4. Name the States in India where the following National Parks are located :-

(i) Orang National Park ...
{ii) Silent Valley National Park ...
(i)  Simlipal National Park ...
(iv) Bandavgarh National Park ...

(v} Sundarban National Park

5. Answer the questions below by choosing the correct option from the choices

given against each question: -
(i Good and Service Tax (GST) is :-

[A] Indirect Tax {B] Direct Tax
[C] Property Tax [D] Income Tax
(i} The only land locked country in South East Asia is :-
[A] Thailand [B] Laos
[C] Singapore [D] Cambodia
(ili)  Which is the main constituent of bio-gas?-
[A] Butane [B] Methane
[C] Ethane (D] Propane
(iv) Who refused his Knighthood after the Jallianwala Bagh massacre?
[A] Mahatma Gandhi [B] C.R.Das

[C] Rabindranath Tagore [D] Balgangadhar Tilak
(v) Rickets occurs due to deficiency of: —
[A] Iron [B] Vitamin A
[C] vitamin D [D] lodine
(vi) Public holidays are declared under:-
[A] Government of India Act, 1935
[B] Negotiable Instruments Act, 1881

30x1=30
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[C] Public Employees Act, 1967
[D] Essentiat Commodities Act, 1955.

(vit} Which of the following Cups is associated with the game of hockey:-

[A] DCM Trophy [B] Agha Khan Cup
[C] Durand Cup [D] Davis Cup
(viii) River Yarlung Tsangpo is the upper stream of the river;
[A] Ganges [B] Narmada
fC] Krishna {D] Brahmaputra

(ix) Which of the following pairs with reference to the Constitution of India, is correctly
matched?

[A] Article 19 — Right to Life
[B] Article 14 — Right to equality
[C] Article 21 — Right to Education
[D] Article 16 — Freedom of Religious practice
(x) Which of the followings best describes the NITI Ayog :-
[A] National Institute of Information Technology
[B] National Institution for Transforming India
[C] National Institute for Technical Inputs in India
[DINational Industrial and Technical Institute in India
(xi) Block Chain Technology is associated with -

[A] Nuclear Reactors [B] Bitcoin
[C] Vacuum brakes [D] Aviation turbine
(xii) Which nation won the tUnder-17 FIFA Football Wortd Cup finals in 20177
[A] Germany
[B] Spain
[B] Columbia
[D] England.
(xiil) In which year was the Gauhati High Court Established?
[A] 1950 [B] 1948
[C] 1952 (D] 1963
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(xiv) What is the National flower of India?
[A] Rose
[B] Lily
[C] Lotus.
(xv) Who wrote the verse “Vande Mataran?” ?
[A] Bankim Chandram Chattopadhyay
[B] Sarat Chandra Chattopadhyay
[C] Rabindranath Tagore
[D] Mahatma Gandhi
{xvi) Who amongst the following Indians is not a Nobel Laureate:-
[A] C.V.Raman
[B] C.N.R. Rao
[C] Kailash Satyarthi
[D] Har Gobin Khurana

(xvii) Boxing Day test match in cricketing parlance refers to -

[A] Every test match played in Australia between the host and the Indian team.

[B] Cricket Match played at Melbourne between Australian cricket team and a visiting

National Cricket team which begins on 26™ December every year.

[C] A cricket match played only between the Australian and Indian cricket team during

Christmas every year.
[] None of the above.
{xviit) Which of the following is not a Naga Tribe:-
[A] Ao [B] Lotha
[B] Mina [D1 Pochury

(xix) Pakyong Airport is situated at -

[A] Leh [B] Sikkim
[C] Arunachal Pradesh [D] Kashmir
(00 Assam was annexed by the British in
[A]L7 [B]1786
[C]1826 [D] None of the above

(xxi) Quit India Movement was organized in the year:-

the year: -
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[A] 1930 [B] 1942
[C] 1945 [D] 1947
(xxif) Who was the First Chief Justice of the Republic of India?
{A] Mohammad Hidayatulla
[B] H.J.Kanaia
[C] Sabyasachi Mukherji
[D] Y.V.Chandrachud
{xxiii} Telephone was invented by:-
[A] Galileo Galelei [B] Alexander Graham Bell
[C] Robert Frost [D] Micheai Faraday
{xxiv) In medical terms, the abbreviation DNA stands for :-
[A} Deoxy Ribonucleic Acid
[B] Dioxi Ricin Acid
[C] Detoxification of Reticent Ammonia
[D] None of the above
{(xxv) The Indian National Army was founded by
[A] Field Marshal K.M.Cariappa
[B] Lala Lajpat Rai
[C] Netaji Subhash Chandra Bose
[D] Bal Gangadhar Tilak
(xxvi} National Judicial Data Grid (NJDG) is a
[A] New system for appointment of Judges in the higher judiciary.

[B] Web portal launched by the Supreme Court of India for tracking pending case at the
district courts?

[C] Network that connect all the High Courts in India with the Supreme Court
D] Web based legal aid services netwark.
(xxvit) Which of the following Countries is not a8 member of the SAARC?
[A] Bangladesh [B] Myanmar
[C] Afganisthan [0] Bhutan

(xxviii) Who among the following was the Chairman of the Constituent Assembly which was
entrusted with the responsibility of drafting the Indian Constitution?

[A] Jwahar La! Nehru [B] Lala Laijpat Rai
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[C] J.B.Kriplani [D] B.R. Ambedkar
(xxix) Which is the largest continent in Earth?

[A] Africa [B] Europe

[C] Asia [P] Antarctica

(xxx) Who among the following was the Chairman of the 7" Pay Commission set up by the
Government of India?

[A] Justice A.K.Mathur [B] Justice P.B. Sawant
[C] Justice. C. Dharmadhikari  [D] None of the above

APTITUDE TEST [Group-B]

6. Mark the item that does not belong to the group :- 10x1 =10

(i) [A] Ostrich [B] Hormbill
[C] Megapode [D] Whale
(i) [A] yellow [B] brown
[C] Violet [D] indigo
(iii} [A] charcoal [B] graphite
[C]gold [D] diamond
(iv) [Alaluminium [B] Copper
[C] Brass [C] Sitver
(v) [A] Mount Everest [B] Kangchenjhunga
[C] Karakoram [D] Sahara
{(vi) [A] Lap Top Computer [B] Tab
[C] Mabile Phone D] LCD Projector
(vil) [A] Advocate General [B] Solicitor General
[C] Attorney General [D] Accountant General
(viii) [A] Apple [B] Banana
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[C] Grape [D] Asparagus

(ix) [A] Elephant B] Dog
[C] Cheetah [D] Turtle

(x) [A] Japan [B] Turkey
[C] Iceland [DiCambodia

7. In the following number series find the odd one out:-

(i) 1,4,9,16,23,25,26

(i)

(iii)

(iv)

(v)

(a) 1
(b) 4
(c) 16
(d) 23

. 10, 14, 16, 18, 21, 24, 26
(a) 14

(b) 16
(c) 18
(d) 21

41,43, 47,53,61,71,73,81
(a) 81

(b) 71
(c) 61
(d) 41

1,9, 21, 28,31,45

(a) 9

(b) 21

(c) 28
{d) 45

10,25,35, 45, 54, 60, 80

5X2=10
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(@) 35
(b) 45
{c) 54
(d) 80

8. Find the statement that must be true according to the given information.
5 x 2=10 Marks

(i) Rajnish has a paper route. Each morning, he delivers 45 newspapers to customers in his
neighborhood. It takes Amit 50 minutes to deliver all the papers. If Ramesh is sick or has other
plans, his friend Thomas, who lives on the same street, will sometimes deliver the papers for
him.

A Rajnish and Amit live in the same neighborhood.

B. It takes Amit more than 50 minutes to deliver the papers.
C. It is dark outside when Rajnish begins his deliveries.
D. Amit would tike to have his own paper route.

(if) Erin is twelve years old. For three years, she has been asking her parents for a dog. Her
parents have told her that they believe a dog would not be happy in an apartment, but they
have given her parmission to have a bird, Erin has not yet decided what kind of bird she would
like to have.

A. Erin's parents like birds better than they like dogs.

B. Erin does not like birds.
C. Erin and her parents live in an apartment.
D. Erin and her parents would like to move.

(i) Jhon’s commute never bothered him because there were always seats available on the
train and he was able to spend his 40 minutes comfortably reading the newspaper or catching
up on paperwork. Ever since the train schedule changed, the train has been extremely crowded,
and by the time the doors open at his station, there isn't a seat to be found.

A. Jhon would be better off taking the bus to work.

B. Jhon's commute is less comfortable since the train schedule changed.
C. Many commuters will complain about the new train schedule.
D. Jhon is likely to look for a new job closer to home.

(iv) When they heard the news of the hurricane, Maya and Julian decided to change their
vacation plans. Instead of traveling to the island beach resort, they booked a room at a fancy

Page8of12



new spa in the mountains. Their plans were a bit more expensive, but they'd heard wonderful
things about the spa and they were relieved to find availability on such short notice.

A.
B.
C.
D.

Maya and Julian take beach vacations every year.
The spa is overpriced.
It is usually necessary to book at. least six months in advance at. the spa.

Maya and Julian decided to change their vacation plans because of the hurricane,

(v} On weekends, Mr. Sanchez spends many hours working in his vegetable and flower
gardens. Mrs. Sanchez spends her free time reading and iistening to dassical music. Both Mr.
Sanchez and Mrs. Sanchez like to cook.

A. Mr. Sanchez enjoys planting and growing vegetables.

B. Mr. Sanchez does not like classical music.

C. Mrs. Sanchez cooks the vegetables that Mr. Sanchez grows.
D. Mrs. Sanchez enjoys reading nineteenth century novels.

9. D. Find out the correct answer 5x2=10
(i) Odometer is to mileage as compass is to

A, speed

B. hiking

C. needle

D. direction

(ii) Marathon is to race as hibernation is to

A. winter

B. bear

C. dream

D. sleep

(iii) Cup is to coffee as bowl is to

A,
B.
C
D.

dish
soup
Spocn

None of the above

(iv) Bird is to Ostrich as flower is to

A.

petal
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B. stem

C. daisy

D. alligator

(v) Piay is to actor as concert is to
A, symphony

B musician

C. piano

D PErcussion

10. E. In each question below is given a statement followed by two conclusions
numbered I and IL. You have to assume everything in the statement to be true, then
consider the two conclusions together and decide which of them logically follows
beyond a reasonable doubt from the information given in the statement.

53x 2= 10 Marks

(i) Statements: In a one day cricket match, the total runs made by a team were 200. OQut of
these 160 runs were made by spinners.

Conclusions:

1. 80% of the team consists of spinners.
iI. The opening batsmen were spinners.
A, Only conclusion I follows

B Only conclusion II follows

C. Either I or II follows
D

Neither I nor II follows

(i) Statements: The old order changed yielding place to new.
Conclusions:
I. Change is the law of nature.
I1. Discard old ideas because they are old.
A Only conclusion I follows
B. Only conclusion I follows
C. Either I or 1I follows

Page 10 of 12



D. Neither I nor 11 follows

(ifi) Statements: Population increase coupled with depleting resources is going to be the
scenario of many developing countries in days to come.

Conclusions:
I. The population of developing countries will not continue to increase in future.

I1. It will be very difficult for the governments of developing countries to provide its people
decent quality of life.

Only conclusion I follows

B. Only conclusion II follows
C. Either I or II follows
D. Neither I nor II follows

{iv) Statements: Prime age school-going children in urban India have now become avid as well
as more reguliar viewers of television, even in households without a TV. As a result there has
been an alarming decline in the extent of readership of newspapers.

Conclusions:
I. Method of increasing the readership of newspapers should be devised.

II. A team of experts should be sent to other countries to study the impact of TV. on the
readership of newspapers.

A. Only conclusion I follows
B Only conclusion IT follows
C. Either I or I follows

D Neither I nor II follows

(v) Statements: The Government run company had asked its employees to declare their income
and assets but it has been strongly resisted by employees union and no employee is going to
declare his income.

Conclusions:

1. The employees of this company do not seem to have any additional undisclosed income
besides their salary.

I1. The employee’s union wants all senior officers to declare their income first.

A Only conclusion I follows
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C.

Only conclusion II follows
Either I or II follows

Neither I nor 11 follows
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